TAG/Pre-AP Algebra II Chapter 6 Exam Review
Due Date: Tuesday, December 16 (A-day), Wednesday, December 17 (B-Day), NO LATE REVIEWS ACCEPTED
Show ALL work and answers on separate paper.  There will be ~21 questions on this test.  In addition to this review, it is recommended that you go back and review/corrrect your quizzes and the “Factoring Polynomials Extension” worksheet.  
This is the last major test of the first semester before finals, so please prepare diligently and do your best~ (
Part I:  “Chapter 6 Study Guide/Review” from the book, Pages 474 – 476:

#9, 11, 20, 21, 25, 26-29, 31, 33, 34-37, 39, 41-43, 45, 50-52, 54-56
Part II:  Do the following problems (show all work and answers on separate paper).  
1. Sketch a graph of each polynomial function without using a calculator of any kind: 
a)  
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b)  
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You need to find all zeros using the rational root theorem/synthetic division.  You also need to find the coordinates of 2 non-zero points (again, synthetic substitution will be helpful).  While your sketches do not have to be exact, they need to be reasonably close and must show correct end behavior.  You may check your answers using a graphing calculator.

2. Use Pascal’s Triangle to expand: 
a) 
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3. Factor each expression completely.  Simplify each factor if necessary.

a)  
[image: image5.wmf]4

9

12

24

81

y

x

y

x

+





b)  
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4. Solve each equation by finding all roots.  Try to factor/solve these without using synthetic division.
a)  
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b)  
[image: image9.wmf]0

64

5

=

-

x

x




c)  
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d)  
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5. Solve each equation by finding all roots.  For these problems, you may use your graphing calculator to help find the rational roots on the graph.  You may need to use the quadratic formula to finish these off.

a)  
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b)  
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*d)  
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6. Write the simplest polynomial function with the given zeros.

a)   
[image: image16.wmf]2

,

5

4






b)  
[image: image17.wmf]0

,

4

1

,

3

i

+



7. Review example 4 in section 6–6 on pages 447-448.  Then use a similar  procedure to work the following problems:  (Note: 
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… and a “hemisphere” is a half-sphere)
a)  A grain silo is in the shape of a cylinder with a hemispherical top.  The cylinder is 20 feet tall.  The volume of the silo is 2106
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 cubic feet.  Find the radius of the silo (a picture of this is on page 448, below example 4).


b) For a scientific experiment, Tony needs a glass bell jar in the shape of a cylinder with a hemisphere on top. The height of the cylinder must be 3 inches longer than its radius and the volume must be 72
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 cubic inches. What should the radius of the cylinder be?

Partial Solutions for Part II:
2. a)  
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3. a)  
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b)  
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4. a)  
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5. a)  
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d)  
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6. a.  
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b.  
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7. a.  9 feet



b.  3 inches
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